Home Learning – Thursday 25th February 2021
Maths

Today I’d like you to concentrate on adding fractions. To add fractions you need to find the common denominator (make sure your pizzas are all divided in to the same amount of pieces) otherwise it’s like trying to add apples and oranges! To find the common denominator you need to be confident you can find equivalent fractions. If you are then please choose either task B or C. If you would like more practise at finding equivalents then choose task A.

I have attached the teaching PowerPoint for you to look at too. 
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Fill in the numerator to make the fractions equivalent.

1. 2. 3. 4,

1 1 1 1

2 4 12 24 10 20 8 16
5. 6. 7. 8.

3 1 1 1

20 40 6 12 5 10 4 16
9. 10. 11. 12.

3 1 7 3

10 20 3 12 20 40 8 16
13. 14, 15. 16.

2 5 19 3

5 20 12 24 20 40 5 20
17. 18. 19. 20.

5 2 3 4

8 16 3 6 4 8 5 10
21. 22. 23. 24.

5 7 9 11

6 12 8 16 10 40 12 24
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Add the following fractions. You will need to convert the fractions so they all have the same
denominator.

1
3 5 1 1
—_— + —_— + — + _— =
5 8 10 4
— + — + — + = = —
40 40 40 40 40
2.
2 5 1 13
— + — + — + = —_—
3 9 5 15
— + — + — +  — = —
45 45 45 45 45
3 7 5 1 2
- + — + — + = —
8 6 4 3
— + —_— + — + = —
4. 7
— + — + — + 11— = —
16 12 8 6
— + — + — + = —
5. 3 5 1 7
— o+ — o+ 66— . — = —
18 12 2 9
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Add the following fractions. You will need to convert the fractions so they all have the same
denominator.
1

1 2 3 2
-+ T+ o+ =

4 7 8 5
— o+ = o+ — o+ —— = —

280 280 280 280

2 4 1 1 2
— + — o+ — o+ = —

9 10 2 3
+ + + = —

3. 7 4 1 3
— +2— +3— + — = —

12 5 3 4
+ + + = —

4 3 3 3 n
17— o+ -+ 3— + — = —

4 n 8 12
+ + + = —

. 1 3 2 7
— o+ =+ = 4+ 4 = —

16 5 4 17
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Question Answer Question Answer
1 2 13 8
2 2 14 10
3 2 15 38
4 2 16 12
5 6 17 10
6 2 8 4
7 2 19 6
8 4 20 8
9 6 21 10
10 4 22 14
nl 14 23 36
12 6 24 22
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Add the following fractions. You will need to convert the fractions so they all have the same

denominator.
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Add the following fractions. You will need to convert

the fractions so they all have the same

denominator.
1 1 2 3 2 87
— + — + — - = 1 -
4 7 8 5 280
70 80 105 12 367
+ + =
280 280 280 280 280
2. 4 1 1 2 32
- + ol + - - = 11—
9 10 2 3 45
40 9 45 60 154
—_— + —_— + —_— —_— =
90 90 90 90 90
3. 7 4 1 3 7
- + 2 — + 3 — —_— = 7 —
12 5 3 4 15
35 168 200 45 448
- + - + -_— — = —
60 60 60 60 60
4. 3 3 3 n 83
- + — + 3— - = 6T~
4 1 8 12 264
462 72 891 242 1667
+ + =
264 264 264 264 264
5. n 3 2 7 271
— o+ N+ b =T
16 5 4 17 1360
935 15776 680 6000 23391
+ + =
1360 1360 1360 1360 1360




